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QUESTION 1

A user is receiving an error about not having enough virtual memory. A technician wants to manually set the amount of
available virtual memory for the computer. At a MINIMUM, the technician should set the virtual memory to be which of
the following?

A. 0.5 times the amount of physical memory

B. 1.5 times the amount of physical memory

C. 2 times the amount of physical memory

D. Equal to the amount of physical memory

Correct Answer: B

QUESTION 2

A new server was installed for the purpose of monitoring network traffic. The network has been configured in such a way
that all traffic will be mirrored out the port this server is connected to. When reviewing the network traffic logs on the
server only traffic destined to the server is listed in the logs. Which of the following is preventing the server from seeing
all network traffic?

A. NIC filtering is enabled.

B. Port security is configured.

C. NIC is not in promiscuous mode.

D. NIC is in promiscuous mode.

Correct Answer: C

QUESTION 3

Which of the following features should a technician consider when purchasing a KVM switch for a datacenter?
A. PCI slots available

B. Scalability and flexibility

C. Number of analog modems provided

D. Number of video conference devices connected

Correct Answer: B

QUESTION 4
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A server administrator builds a disk array with data striping. Several months later, a disk fails and the server crashes.
Which of the following is the problem?

A. Data striping provides no fault tolerance.

B. The block sizes were set incorrectly.

C. The parity disk failed.

D. The drive head broke off causing a cascade failure.

Correct Answer: A

QUESTION 5

In a Windows Server 2003 environment using PKI, a user encrypts several documents on a shared file server. That user
account is then accidentally deleted. Which of the following must be configured in order to decrypt those files?

A. Key recovery administrator
B. Key recovery agent

C. Trusted root certificate store
D. Root certificate store

Correct Answer: B
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